‘Find the amount of change | would get from a five-
pound note if | spent the following amounts.’

£5.00-99p =

£5.00-£1.99=

£5.00-£299 =

£5.00-£298 =

£5.00 — =£1.01

‘What would my change be in each case if | paid with
a ten-pound note instead of a five-pound note?’

‘Stephanie bought a sticker book for
£3.20. She paid with a £5 note. How
much change did she get?

‘Nigel has £10 of credit on his phone. If
he spends £3.50 on a game, how much
credit will he have left?




Eloise has £5 to spend in the joke shop.
She wants to buy a pot of slime for 99 p
and a water pistol for £3.50. How much
change will she get from her £57
‘When Eloise gets to the checkout, she
finds that the water pistol is in the sale
and only costs £3. Will she have
enough to buy another pot of slime?’

‘Il want to buy two games, one for £24.55 and the
other for £17.82. How much will I spend altogether?’

‘Iwant to buy a book that costs £5.60 and a game
that costs £27.05. How much will | spend altogether?’

‘I bought the following items. How much did | spend
altogether?’

chair: £50.35

desk: £83.25

lamp: £25.10




Thave saved £6.53 and my brother has saved £4.38.
How much more money have | saved than my
brother?’

‘The game | want to buy costs £29.50. | have saved
£18.94. How much more do | need to save before | can
buy the game?’

‘I need £12.50 to enter a swimming competition, but |
only have £7.08. How much more money do | need?

Assessment

1 ‘Alicia bought a t-shirt for £8.50 and
some shorts for £15.66. How much did
she spend altogether?’

2 ‘Red trainers cost £12.75 and blue ones
cost £27.40. How much more do the

blue ones cost than the red ones?’

3 ‘Giant gobstoppers cost £2.99 each.
Ahmad bought two. What was the
total cost?’

4 'Deborah bought a football shirt for
£17.99. She paid with a £20 note. How
much change did she get?’




A child's ticket to the cinema costs £5.60, whilst an adults costs £8.50.
« How much more does an adult ticket cost?
» How much would it cost for 2 adults and 2 children to go to the cinema?

Hannah went shopping with £15.10, and bought some
Sunglasses for £9.80, and |'F|ip-flr.:|:ns for £2.45.

How much money did she have left?

Lewis went to the shop and bought a magazine for £3.80,
And 2 packets of biscuits at £2.50 each.
How much does he spend altogether?
How much change from a £20 pound nn‘te?|

Train tickets from Nottingham to Birmingham cost £11.25‘ for a single journey.
» How much would a refurn journey ticket cost?
» How much would it cost for 2 return tickets?

Miss Mitchell bought 3 bags of sweets and 1 packet of lollies
to fill up Class 4's sweetie tinl
The bags cost £2.35, and the lollies cost £1.20.
How much did Miss Mitchell spend altogether?




